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Carefully read the instructions given on Question Paper, OMR Sheet
and Answer Sheet.
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Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)

3H AGGANR & g &9 § | 0T v F IR weeT 3R awr & o
afer geat ¢ |

There are TWO PARTS in this Module/Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.

HIT TF “dehfoudh’ Yo & ¢ F@% ol 37 40 § oar &mr 2y,
“cATFTRS" TR ¢ 3R gqH Fel 37 60 & |

PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.

#ET T & OIT 3feds gaw der v uver ReiRa & g B
#Er @ 7 SI-ORAE, 6T UF A SaqiRede S e &
weaTd & el qnfy, efRa e g § g e v g e
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Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE.

wemeff, sufRufaBer w grawr fFv Rar swEr e
sR-gRaw!, Piew F WY Ren, wden g 7@ o ww §
T ) F W), el # 3w AlggaAw § ey 9fta =
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Candidate cannot leave the examination halllroom without
signing on the attendance sheet or handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module/Paper.
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.
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Note: In case of any discrepancy found in Hindi language, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




PART ONE / |l Ud

(Answer all the questions) / (W4l T%H & IR <)

1.1
A)

B)

C)

D)

A)
B)
C)
D)

UAD Y & SR & Py fddbed A1 oy T 8| b

a4 SUYad fabed g 3R S efeiad (el &
U U & WM SUAS RIU Y “IATTHIR

IR UAD H o P |

Each question below gives a multiple choice of

answers. Choose the most appropriate one

and enter in the “OMR” answer sheet supplied

with the question paper, following instructions
therein. (1x10)

C od7ast & fov s & &Il AT Il faavor &2
C HFIBeR 3ifaed 3feco dikee &l Jule axdl
g

C HFUgeR gFaTsHIAT gfecoR &ikee &l TuIe
AT §

C FFIBeR TSI STecoR FHEET DI FUIC Xl
g

C HFUSeR SHIHAA Slocoll dIEee Hl FUIE FIAT
g

Which one is incorrect statement for C Language?
C compiler supports octal integer constant.

C compiler supports hexadecimal integer constant.
C compiler supports binary integer constant.

C compiler supports decimal integer constant.

fA=tfafad s &1 3m3eqe Far gem?
int main()
{

int x,y,2z;

x='1'-'0"'; /* line-1 */
y='a'-'b'; /* line-2 */
Z=xX+y;

printf ("%d", z) ;
}
0

hdol ITeld ollgel-1 o hIOT ITelcll
had Iad dEa1-1 3R ABA-2 F HROT el

hdol IAAd lSeA-2 & HROT ITelcl

What will be the output of the following code?
int main()

{

int x,y,2z;

x='1'-'0"; /* line-1 */
y='a'-'b'; /* line-2 */
Z=xX+y;

printf ("%d", z) ;
}
0
Error because of incorrect line-1 only.
Error because of incorrect line-1 and line-2.
Error because of incorrect line-2 only.
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1.3
A)
C)

A)
C)

14

A)
C)

A)
C)
15

A)
C)

A)
C)
1.6

A)
C)

A)
C)

1.7
A)

B)

C)

D)
A)

B)

D)

*ptr++ AR & &

ptr++ B) *ptr

++ptr D) ++*ptr

*ptr++ is equivalent to

ptr++ B) *ptr

++ptr D) ++*ptr

fAetfolf@d & @ @lr @1 ‘C' A 3ugad TR
FATE o8l & ?

3ifer B) dcc

wefew D) extern

Which of the following is not a proper storage class
in‘C’'?

auto B) dcc
static D) extern
fAeafaf@a & ¥ fraw dgasedBl & ®

TR 8T fopam o gahar?

SRR B) fsfocw

3ETERRT D) ofed

Which of the following cannot be used as
identifiers?

spaces B) digits

underscores D) letters

Th “F .50 q7” AR dR W fadel aR “q7

grem
0 B) 3&IH AMET H
1 D) uRad=g

How many times is a do while loop guaranteed to
loop?

0 B) Infinitely
1 D) Variable
YA3EIE0T T AT fohar e

Jg fAaRa s & fav fr fha 3ffavex & &
¥ I ugel Hedichat T

WIH H T WX F &R FeiRg &= &
fow

Ig ARG e & v f& e g foas
Teh U 37feen I MFAe § 38 Fedine Hy
foFar Srar g

TFHYLNST T ST el del § AT gl

Precedence is used

To determine which operator evaluated first from
left to right.

To determine the level of an operator in a program.
To determine how an expression involving more
than one operator is evaluated.

To check the expression is valid or not.
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1.8

A)
B)
C)
D)

A)
B)
C)
D)

Th W &l T el o ot &&F & gl
ey &1 uganeT A

foleh, oIS, &5, HFURA Td TaT 1agC

T3, HHUSA, Toleh, THRIEIC U9 I3

@IS, HEUTSd, foleh, dI5 Td TaIage

HEqISe, i3, foleh, dIs Td TaIage

Identify the correct sequence of steps to run a
program

Link, Load, Code, Compile & Execute

Code, Compile, Link, Execute & Load

Code, Compile, Link, Load & Execute

Compile, Code, Link, Load & Execute

fA=tfafad 15 &1 3m3eqe Far gem?
main ()
{
int x =0, y =0;
if(x > 0)
if(y > 0)
printf ("True") ;
else
printf ("False") ;
}
Soleh ThleT
qacd
el

‘SR Tog THEAT & HROT Al

What will be the output of the following code?
main ()
{
int x =0, y =0;
if(x > 0)
if(y > 0)
printf ("True") ;
else
printf ("False") ;
}
Blank screen
True
False
Error because of dangling else problem
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1.10 fAFAfafEd #15 &1 3M3cYe F47 gron?

A)
B)

C)
D)

main ()
{
int i=2,*3;
j=&i;
printf ("ed" ,i**Jri+*]) ;
}

printf 3 31T TFEURTA F FRUT fHeTFT X
fiic Sa dog
16
10
What will be the output of the following code?
main ()
{
int i=2,*3;
j=&i;
printf ("%d" ,i*x*j*it+*y) ;
}
Syntax error due to Invalid expression in printf
Print junk value
16
10
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2. i fU U yRAE faawer a1 |l Hed AT 3 B | U
a4 SUYad fabed g 3R S efeiad (el &
TR UeT UF & AR SUel IR Y “HGHIR”
SR TG H o P | (1x10)

2.1 g Ui aNUT °TIT A AT Fehel

2.2 1.0 39 &¥ce 3R Fdlc FHEEC F T G607
g

2.3 #define &1 YT THdITeldh dIEce i SHEA ol
¥ fov far Jrar g

2.4 const Tsh dIgs § Tor@err uder RAditaed Fc
a1 gRea o & fow fosar arar @

2.5 31 AT W HART H T&h AT W &
7 H fpforhell TR &1 ST &

2.6 T UlgeX F PR, off fohdl FTgFaR FI dise
FAT &, TEFR & HR W R Tl §

2.7 Ueh AT & HIT T T AALY SIhe R
A o

2.8 break $1as ad &g TeFR H AfAad &

2.9 fprintf Harle HT AT ATk H TUSS 33U
fEarsg U M o god &

210 S yEmE F FeRa 3mer & o g, ar
folars faTe & I3 W &l YART T dga g1

3|Page
ROUGH WORK SPACE:

Each statement below is either TRUE or FALSE.
Choose the most appropriate one and enter
your choice in the “OMR” answer sheet
supplied with the question paper, following
instructions therein. (1x10)

2.1 Two pointer variables cannot be subtracted.

2.2 1.0 is an example of double constant and float
constant.

2.3 #define is used to define symbolic constant.

2.4 const is a keyword that is used to define symbolic
constant.

2.5 Two dimensional array is stored in memory
physically as one-dimensional array.

2.6 size of a pointer, which points to a structure,
depends on size of a structure.

2.7 All the members of a union share the same
memory location.

2.8 break keyword is mandatory in switch case
structure.

2.9 Using fprintf function, we can print on the standard
output device.

2.10 It is better to use array than a linked list, when

there is a fixed size list in a program.
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3. Hied X # U v vt SR aradt o1 e diem Y # Ry 0 ey e et / vt /
Al | B | ST QU Y SRR BT U F gY AU [P Y UH @ 9T QY Ty
“IMTHIR” SR T3 § <o B | (1x10)

X Y

31 | Jg U 3T & S Ueh TR AT & 3ThR I IT0AT AT & A. | strrev

3.2 | thereleT Y Ueh TEEAT BT Ray T & B. |sfmesw

33 | HiEec Jog 32767L FITH 3ERIOT____ & C. |vwale

34 | urfdier & 3@ AU # T 1 TgH U Tl SireT & D. goto

35 | gg Ueh [ o S1FT VAT § E. 3T hIeHT

3.6 | a1 Wb S Sharel 0 3N TehRIcH Ty ol & T Y Fohal & F.oo | seamEs s8e

3.7 | weh TEgaT piece 39 THaol o oI shaX v STt ATfgT G. Typedef

38 | g us g § S fagIHT 32T T8y A ddkfousd A e & fav H. | e
AT AT AT &

39 | 45.2f #rseTETRUY I oo 3leeok

3.10 | printf ereret T Reet 22U & J. qISAATH

K | o=
L |wweas e
M. | s

4 éﬁ%qwﬁmwﬁéﬁﬁnﬁwﬁﬁwmmmaﬁuﬁ@mﬁwmlw
IR faded T SR I9 FrfaiRad el @ oFfaR We U3 & |Rf O Y "3fITHaIR JTR
TAG H AT fadmed ot By | (1x10)

A. JHPreT B. FEreTTel 3T C. TR
D. g E. math.h F. scanf()
G. | e foee H. | sfecor AREE

J. dgs K. W L. ctype.h
M. | #ieee deex

4.1 fHae &1 2197 UigeT @RI aarS 15 deg &1 Uied el & T famar Sirm §

42 9 UH W 9T fRar S §, gue ufede @ W A F & H gReT forar Srar g

4.3 M_PI U &hiEee § Sl 22/7 IRAT &1 giafaifted aar §. I8 TR W H 9T forar Srar §

4.4 Gl stdin TEH & 3T I8 FXAT &

45 1Y 87 gor RBigs Faert @l feulee Rest agu g

46  do...while loop & Hf3eeT & 91 AT FT 3TTIFRAT gicll &

47 Waﬁaﬁasﬁq@jaa?ﬁvgﬁr GECECIR RICE GGy

4.8 3¢T TEFR NIH fTsurest & SR 3eT fia aer 3R f3olle ey & agrar wear @

4.9 A & TIU Tolad aRUS Tad: & 3R & e &

410 9o RIE 3R dlelel & Th Farel Y Fed ¢
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3. Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,

following instructions therein. (1x10)
X Y
3.1 It is an operator that calculates size of a structure variable A. strrev
3.2 Function that reverse a string B. integer
3.3 Constant value 32767L is an example of C. Float
34 Address of arguments is passed in this method of passing D. goto
3.5 It is an unconditional jump statement E. Double quotation
3.6 Data type that can store only 0 and positive numbers F. Unsigned integers
3.7 All the string constant must be covered between this symbol G. typedef
3.8 It is a keyword used to assign alternative name to existing data H. struct
type
3.9 Data type of 45.2f is L. long integer
3.10 | Return type of printf function is J. sizeof
K. switch
L. pass by address
M. void
4, Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.
Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with
the question paper, following instructions therein. (1x10)
A. semicolon B. conditional operator C. asterisk
D. dot E. math.h F. scanf()
G. Linked list H. integer I zero
J. void K. array L. ctype.h
M. constant pointer
4.1 symbol is used access the value pointed by a pointer.
4.2 When an array is declared, array name is defined as to first element.
4.3 M_PI is a constant that represents 22/7 ratio. It is declared in header file.
4.4 function reads data from stdin stream.
4.5 Default return type of any user-defined function is
4.6 In do...while loop, symbol is required after condition.
4.7 We must use symbol to access structure members.
4.8 data structure facilitates to insert and delete data during the program execution.

4.9 Global variable is initialized to by default.

4.10 A pair of question mark and colon is known as

S|Page
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91T <1 / PART TWO

($% IR Y BT TR %f)/(Answer any FOUR questions)

5.
a)

b)
c)

b)

c)

a)

b)

a)

b)

Th W1 ford St 10 SfeeaX & T WY TR addl
g 3R Ife 9T s/ At W & v wear o felie fohar
ST & f3efie fordr gu wfersie 1 -1 & Risfe ¥ 3R
sifas W feecer &L Ffe & urm a3 o 3a 79
TRl # Toleht 3T oisT &l 83fAenT &l sarear
&

W 3R UTSex T HeeT 3EIEL0T o T TIST Fl.

Write a program that accept an array of 10 integers
and a number to be deleted from the array if found.
Represent deleted element with -1 and display final
array. If not found print appropriate message.
Explain the role of linker and loader in compilation.
Explain the relation of array and pointer with

example.
(7+4+4)

1@ n, S8 n I @RI TR fomam ama §, aeh &
T3 Al HAIUT e He & AT v Foll °IC T
Ey

AT T IO STl TR Had & fAT Toh threreT
o

Teh therelel fold St 3Teol 3o dtel Al n &l W
eR X § 3R @l doger @ stad & €
TheFIeT T FTT MITH H Hlel Y

Draw a flow chart to print the factorials of numbers
from 1 to n where n is entered by user.

Write a function to display the multiplication table of
the number.

Write a function which accepts an array of size n
containing integer values and returns average of all

values. Call the function from main program.
(5+5+5)

19 n a% gef FeoEfd dear e o & fav
o o, Jgl X, n IoR W AR 2. veh poorefc
AT ag FEAT ¢ 8% quch 37kl & SheAuTieh hl
13T HEAT o FATE Bl §. 30T oh TolT, 145 = 11 +
41+ 50 =1+ 24+ 120 = 145.

Teh Tea f3edw & sarear o [ & 3e1 FHad
g stesw A om 3k g

mm g
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a)

b)

a)

b)

a)

b)

e ofieT ARTeTew & Tex e & 31 a8 gar ot
foh 3oTe @ aler AT Y W@ 3R &

Write a program to print all the Krishnamurti
number from 1 to n. Here, n is user dependent. A
Krishnamurti number is a number whose sum of
factorial of individual digits equals the number. For
example, 145 = 1! + 41 + 5! =1 + 24+ 120 = 145.
Define a structure Distance having two data
members: cm and mm in integer.
The program enters three variables and find which
distance is the largest among them.

(8+7)

e fEqT FECTHT T TN FX §U, Th AT F §T
H 38R fAU 7T Ter iaey W H T’ &1 dEdn 3R
Solerd I TEAT & ITUTAT o TolT Teh harelel Toid.
ToleFs oIt SeT TeFR h aIW FATR ?

fae a1seT tFEFIfld OR &1 & YoTTell &1t 3iK C
H ol TITH Sl 3GIEI0T & AT T Y.

Using a switch statement, write a function to count
the number of vowels and number of blanks in a
character array passed to it as an argument.

Which are the demerits of linked list data structure?
Explain working of bit-wise exclusive OR and shift

left operators in C with example.
(7+4+4)

T W H T T3 TE&AT IdT 9Tt & [olT Tah Y
o

R T 3TTLROT hT ISTELOT o FTT STEAT .
T Ars 3R S Al wigal & 1T 3R 9dTU.

Write a program to find greatest number in an
array?

Explain the concept of recursion with example.
Explain the difference between Test mode and

Binary mode files.
(8+3+4)
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